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1. Work out 240 +6

You must show your workings out
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2. Work out 18000 +9

You must show your workings out
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3. Work out 588 +7

You must show your workings out
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4. Work out 162 =3

You must show your workings out
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Answers

1. 40

4 x 6 = 24 and appropriate scale x 10
(or equivalent division method)

2. 2000

2 x 9 = 18 and appropriate scale x 1000
(or equivalent division method)

3. 84

80 X 7+4 x 7 =560+ 28

(or equivalent division method)
4. 54

90 x 34+4 x 3 =150 + 12
(or equivalent division method)
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